N
HIT FITNESS

HITOO738

Hit Fithess SB57 Semi Commercial Bench New

Assembly Manual




Component details

NO Details drawing count NO Details drawing count
1 1 2 Qgﬁsgiz 1
: Lo x |
5 2 6 Xy 2
7 1 8 @ 1
9 1 10 @b 2
Standard component
NO Details drawing count NO Details drawing count
T M12 X 115 bolt,nut,washer | 19 M12 X 105 bolt,nut,washer 1
—000 0—006
13 M12 X 95 bolt,nut,washer ) 14 M12 % 90 bolt,nut,washer 9
—00® 0—000
5 M12 X 85 bolt,nut,washer ) 16 M10 X 25 bolt,washer 4
0—0006 o0
17 M6 X 40 bolt,nut,washer 9 18 M8 X 20 bolt,washer 6
0> 000 0
19 210 pin 1

o






















